
PERCENTAGE ERROR 

Standard value of coefficient of viscosity of the given liquid = ………………..𝑁𝑠𝑚ିଶ 

Observed value of coefficient of viscosity of the given liquid = ……………….. 𝑁𝑠𝑚ିଶ. 

 

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝐸𝑟𝑟𝑜𝑟 = ฬ
𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑 𝑉𝑎𝑙𝑢𝑒 − 𝑂𝑏𝑠𝑒𝑟𝑣𝑒𝑑 𝑣𝑎𝑙𝑢𝑒

𝑆𝑡𝑎𝑛𝑑𝑎𝑟𝑑 𝑣𝑎𝑙𝑢𝑒
 ×  100%ฬ 

 

                          = ………………………………………………….. 

 

           = …………………………………………………….  

 

           = …………….. % 

RESULT: 

The coefficient of viscosity of the given liquid (……………….. ) has been found to be ……………………. with  

…………. % error. 

CONCLUSIONS: 

Thus, the coefficient of viscosity of given liquid has been found experimentally in laboratory using stokes’ 
method. 

SOURCES OF ERROR 

1. The ball used may not be perfectly spherical. 
2. The time may not be measured correctly. 
3. Temperature may vary. 
4. The point from where taking the terminal velocity may not be found out. 

PRECAUTIONS 

1. The steel balls should be perfectly spherical and small. 
2. The jar should be perfectly vertical. 
3. The liquid should be highly viscous. 
4. The balls should be dropped gently and carefully. 
5. The ball should not touch the wall of the jar during its motion. 
6. The liquid should be of uniform density. 

 
-0- 


